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INSTRUCTIONS TO CANDIDATES

The Question Paper will be given in the form of a Question Booklet. There will be four
versions of Question Booklets with Question Booklet Alpha Code viz. A, B, C & D.

The Question Booklet Alpha Code will be printed on the top left margin of the facing sheet
of the Question Booklet.

The Question Booklet Alpha Code allotted to you will be noted in your seating position in
the Examination Hall.

If you get a Question Booklet where the alpha code does not match to the allotted Alpha
Code in the seating position, please draw the attention of the Invigilator IMMEDIATELY.

The Question Booklet Serial Number is printed on the top right margin of the facing sheet. If your
glu%stign OIi%ooklet is un-numbered, please get it replaced by new Question Booklet with same
pha Code.

The Question Booklet will be sealed at the middle of the right margin. Candidate should
not open the Question Booklet, until the indication is given to start answering.

Immediately after the commencement of the examination, the candidate should check that
the Question Booklet supplied to him/her contains all the 100 questions in serial order. The
Question Booklet does not have unprinted or torn or missing pages and if so he/she should
bring it to the notice of the Invigilator and get it replaced by a complete booklet with same Alpha
Code. This is most important.

Question Serial No. 1 to 70 are grinted both in English and in Tamil. Doubts regarding
the meaning and translation of Question Serial No. 1 to 70 will be settled based on the
Questions in English.

Two blank pages are provided before the last page of this Question Paper for rough
work.

Please read carefully all the instructions on the reverse of the Answer Sheet before
marking your answers.

Each question is provided with four choices (A), (B), (C) and (D) having one correct answer.
Choose the correct answer and darken the bubble corresponding to the question number
using Blue or Black Ball Point Pen in the OMR Answer Sheet.

Each correct answer carries 1 mark and for each wrong answer 1/3 mark will be
deducted. No negative mark for unattended questions.

No candidate will be allowed to leave the examination hall till the end of the session and
without handing over his/her Answer Sheet to the Invigilator. Candidates should ensure
that the Invigilator has verified all the entries in the Register Number Coding Sheet and
that the Invigilator has affixed his/her signature in the space provided.

Strict compliance of instructions is essential. Any malpractice or attempt to commit any
kind of malpractice in the Examination will result in the disqualification of the candidate.
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1. Read the following sentences.
i. ‘Pativu Kanakku’ was introduced by Marthanda Varma in Travancore.
ii. ‘Suchindram Kaimukku’ was stopped by Swathi Tirunal Rama Varma.
iii. Devadasi system was abolished in Travancore during the reign of Sethu Lakshmi
Bai.
iv. The Institution of Slavery was abolished in Travancore during the reign of Sethu
Lakshmi Bai.

Select the true answer from the codes given below :
A) All the above B) Onlyiandii C) Onlyi,iiandiii D) Only i, ii and iv

2. Which of the following pairs are correctly matched ?

i. K. P.Vallon — Pulaya Mahasabha
ii. Ayya Vaikuntan —  Ucchi Padippu
iii. C. P. Achutha Menon — Vidya Vinodini
iv. T. K. Madhavan — Dhanvanthari
A) i, iiand iv B) i, ii andiii C) i, ii, iiiand iv D) Only i

3. Which of the following statement/s about Responsible Government in Kerala is/are
true ?
i. Pattom A. Thanu Pillai was the first President of Travancore State Congress.
ii. ‘Dharmarajyam’ is a book related with the struggle for Responsible Government in

Kerala.

iii. The name of Accamma Cheriyan was associated with the Responsible Govt. in
Kerala.

iv. Travancore State Congress song was composed by R. Sugathan.

A) i, ii and iii B) i, iii and iv C) i, ii, iii and iv D) i, iii and iv

4. Which one of the following does not belong to the same category ?
i. Ulghulan movement
ii. Sapha Har movement
iii. Kacha Naga Rebellion
iv. Ghadhar movement
A) ionly B) ii only C) iii only D) iv only

5. Which of the following statements about the Chipko Movement is/are not correct ?
i. Chipko movement was an Agrarian movement.
ii. Chipko movement got inspired by ‘Sarvodaya movement’.
iii. Gaura Devi is an important leader of Chipko movement.
A) ionly B) iandii only
C) i,ii andiii D) None of the above

6. Which of the following terms does not indicate land during the Mughal days ?
A) Karori B) Jagir C) Parati D) Inam
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7. Which of the following statement/s is/are true ?
i. ‘Sugar Act’ was related with American Revolution.

10.

11.

ii.
iii.
iv.
A)

‘Green Ribbon Club’ was associated with English Revolution.

‘Three People’s Principles’ were associated with Chinese Revolution.

‘Ten Days That Shook The World’ was associated with French Revolution.
i, i and iii B) i,iiandiv C) i, iii and iv D) Only iv

Which one of the following statement/s about UNO is/are not true ?
i. UNO was based on the concept of National sovereignty and Big power

ii.
iii.
iv.
A)

co-operation.

The purpose of UNO is defined in Article | of the UN Charter.

WTO (World Trade Organisation) is a specialised agency of UNO.
UNO was formed to maintain international peace and security.

i, il and iii B) i, iiiand iv C) i, iii and iv D) Only iii

Consider the following statements, which one is correct ?

i.

ii.
iii.
iv.
A)

Tennis Court Oath was related with French Revolution.

‘Taille’, ‘tithe’ and ‘gabelle’ were terms denoting taxes prevailed in France during
French Revolution.

“The Friend of our Country” was a journal of rebels during the French Revolution.
‘Pride’s Purge’ was connected with French Revolution.

i, itand iv B) i, ii and iii C) i, iii and iv D) i, iiiand iv

Read the following statements regarding National Food Security Bill.

i.

ii.
iii.
iv.

The aim of the Bill is to provide subsidised food to the poor people of the Country.
This Bill was first implemented in Rajasthan.

AAY (Antyodaya Anna Yojana) is an extension of this Bill.

Targetted Public Distribution System is jointly operated by Central and State
Governments.

Which among the codes given below is true ?

A)

i, it and iii B) ii, iiiand iv C) i, ii, iii and iv D) i,iiand iv

Consider the following statements :

Statement A : Westerlies are more powerful and aggressive in Southern
hemisphere.

Statement B : Westerlies in Southern hemisphere blows through friction free surface
of oceans.

Select the correct answer.

A)
B)
C)
D)

Statement A is correct, B is incorrect

Statement B is correct, A is incorrect

Both statements are incorrect

Both statements are correct and statement B explains statement A
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12. Patlands are characteristic features of
A) Aravallis B) Chota Nagpur region
C) Kashmir Himalaya D) Thar desert

13. Isohalines are lines joining places having equal
A) Cloud cover B) Salinity C) Sunlight D) Seismic waves

14. Consider the following statements on Western Ghats. Which one is correct ?
A) Western Ghat is a young fold mountain
B) Western Ghat was formed in Tertiary Period
C) Western Ghat is an Escarpment
D) Western Ghat is composed of sedimentary rocks

15.  Which of the following is an open source GIS software ?

A) QGIS B) Map Info C) Arc GIS D) ERDAS
16. GDP at Factor Cost is

A) GDP at MP — Net Indirect Taxes B) GDP at MP — Depreciation

C) GDP at MP + Net Product Taxes D) GDP at MP + Net Income from Abroad
17. Among the factors of production the passive ones include

A) Land B) Labour

C) Capital D) Both land and capital

18. Which among the following measures will reduce the supply of money in the economy ?
A) Purchase of Government Securities by RBI
B) Sale of Government Securities by RBI
C) Borrowings of the Central Government from RBI
D) None of the above

19. Which of the following is/are correct regarding the Repo rate ?
i. Itis always lower than the Bank rate
ii. Itis always higher than reverse Repo rate
iii. It focuses on short term financial needs
iv. No collateral is involved when it is charged
A) Only i andii B) i, ii and iii C) Only i andiii D) All the above

20. Fiscal deficit refers to
A) Total Expenditure — Total Revenue Receipts
B) Total Expenditure — (Revenue Receipts plus Non-debt Capital Receipts)

C) Revenue Deficit Interest Payments
D) Total Expenditure — (Revenue Receipts plus Capital Receipts)
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21.

22.

23.

24.

25.

Which Article deals with the suspension of the Fundamental Rights guaranteed by
Article 19 as soon as emergency is declared ?
A) Article 352 B) Article 356 C) Article 358 D) Article 359

Which of the following is in the Concurrent List in the Constitution of India ?
A) Production, supply and distribution of goods
B) Newspapers, books and printing presses
C) Regulation of mines and mineral development
D) Standards in institutions for higher education or research and scientific and technical
institutions

Amendment on Citizenship — acquisition and termination requires
A) A simple majority of Parliament

B) A special majority of Parliament

C) A special majority of Parliament and consent of States

D) A court order

The Directive Principles of State Policy in Indian Constitution resembles the
‘Instruments of Instructions’ enumerated in the

A) Government of India Act of 1909 B) Government of India Act of 1919
C) Government of India Act of 1935 D) Government of India Act of 1947

Which of the following arguments is not correct about the amendment of Indian

Constitution ?

A) There is no provision for a special body like Constitutional Convention or Constitutional
Assembly for amending

B) The power to initiate an amendment to the Constitution lies with the Parliament except
in one case i.e., creation and abolition of Legislative Councils in the States

C) The Constitution does not prescribe the time frame within which the State Legislatures
should ratify or reject an amendment submitted to them

D) There is a provision for holding a joint sitting of both the House of Parliament if there
is a deadlock over the passage of a Constitutional Amendment Bill

26. The condition of service of members of All India Service are determined by

A) President of India B) Constitution of India
C) Parliament of India D) Union Public Service Commission

27. Constitutional safeguards to Civil Servants are ensured by

A

A) Article 310 B) Article 311 C) Article 312 D) Article 315
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28. Under RTI Act, 2005 the information is provided to the applicant free of cost
i. If the applicant is a BPL person
ii. Where a public authority fails to provide information within 30 days of application
iii. Where a public authority fails to provide information within 45 days of application
iv. Where a public authority provide incorrect information to the applicant

A) Onlyiandii B) Only i and iii C) Onlyi D) Only iv
29. According to Consumer Protection Act which of the following is not a Consumer
Right ?
A) Right to Choice B) Right to Consumer Education
C) Right to Bargain D) Right to be Heard or Right to Representation

30. National Human Right Commission is a
A) Statutory body
B) Constitutional body
C) Neither a Constitutional body nor a Statutory body
D) Extra Constitutional body

31. Who wrote the book Keralam-Mannum Manushyarum ?

A) P. Govinda Pillai B) M. G. S. Narayanan

C) Dr. T. M. Thomas Isac D) E. M. S. Nambuthiripad
32. Which among the following was the Editor of Vidya Vinodini ?

A) C. P. Achutha Menon B) K. Narayana Kurukkal

C) K. Damodaran D) Kalloor Ummen Philippose

33. Sangeetha Naishadam was related to

A) Ponjikkara Rafi B) T. C. Achutha Menon

C) P. K. Kocheeppan Tharakan D) George Mathan
34. Which among the following games is related to the term Pitcher ?

A) Tennis B) Basketball C) Golf D) Baseball
35. Koduppunna is the pen-name of

A) Raman Nair B) Krishna Pillai

C) Govinda Ganakan D) T. Ramachandran

36. Who won the title ‘Champion of Champions’ in the World Shooting Championship ?

A) Jaspal Rana B) Abhinav Bhindra
C) Manshar Singh D) Anjali Bhagavath
37. Mohini Bharadwaj bagged Olympic medal in Gymnastics in 2004 Athens Olympics
for
A) India B) America C) Thailand D) Nepal
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SHaIeO YWlub o Meniod FL 1 1b 2005 ()61 H1p, @ll6wTewTLILISTI (5 HL_L_GRTLD
@evevroed 6T IGLIMG $FHaUD ILPBISLILIBHF DS

i. allewrewntliLg T eupienoCErl Hs@H G @) (BBS T

ii. aflewrewtLi 9855 30 BT %@ 6T H%6U)FHEM QT U LPEIHD S 6L DITTeV

iii. aflesenTL 1955 45 BIL % @5 GH6T SFaUGCOFEGT 6L LD 515556 DIGT TV

V. QIGRTERTLILISTI(5S @ S6UDTET 5% 66)FHE G 6 LpEIF %) GyTT6D

A) i LopmyLb ii B) i opmiLp iii C) i B D) iv ol
BISTCUTT LUTGISTLILF FL LGS L, Lol haiaTalpmley 61% K% TGaumt
2 MenLD 9eV6V

A) Ggiiay ClFdicugmns et 2 feoLp

B) maiGeunt alfliiLjestiey Hevallssmer o MenLo
C) Gupyib Gu&ib o Mepip

D) GsL @b 2 Menio 2yevevg Fiilwmest L97% 6% S5 6uLD
Casfw eslls 2 e Lo% 6T 4,60 WTWILD 6TGITLIS)

A) @@ FLL FHWTeT SyeoLoLiL]

B) wrfwevenioliL) syemioLiny

C) < rFRwewemLoliL] eV FL L FHWITGT LDLIL| GGV

D) gn(sevraT rRuweenioliL] oemLoLiL

‘GHIaTLD - LDGRTEY) LD LDGY) I (HLD GTGHTD L{SSHSeS GT(LP S WIGU T WTIT 9

A) 19.Csmallbs LNerenar B) erib.&d). 6100 BAITILIGSTGT

C) Lnr&L 1T19.6TLD. HTLOGOV 2FS5 D) m.e1ib.616. BLOLLS M LIT(®
adlgwmal GesrGesflufler o & Mlwii wrr 9

A) 9.19. ygxs T GLocrest B) GCs.promwesnt &mobser

C) Cs.51Cwrs et D) seari o tbroeir L9a5GLimen
‘FBIGHT ®BapGLD’ Q)Fe0IL 65T O\GTL_TLIGOL_ WG

A) CurerFEaHTT Fo%L9 B) 19.9 wjgasm Goesret

C) 19.C%. Cas1d&L1L165 56T D) eomiigh Log et

LereumLd aflenemum” (HFafed 618/ LI FT 616D aUTTSenSUL_6T O\ m el g ?
A) GLaresflav B) smevL_ Libhg) C) GsmavodLs D) Guaev Lipg)
‘Oar@Liyeret ererig wmher Guert GlLiwii(pen-name)

A) gL BmwiT B) % payewnt Lerenar

C) Carallps %esrser D) 9. gmo&FHS) g6

2 W& FILILITESRFEB LD CLim’ 19 uflev, ‘FmibL9 w651 eM 63T FILLLNIGT* 6TGHMD
Ul L gewg Qupmai w9

A) @evLImey FTewTT B) w<y9meu LG TT

C) estaur Fm D) </ehaedl LiFaus

agOgerev @adlbifd Gumi’ig 2004 &, 6T BTL 196 FTTLINS Qe aTWImLy,
Con&ed] LIS auTs BLbesTTevLy & FH ST G6e0lbLI% GloL_emev ClLmm T 9
A) @B B) @Glwlgsm C) smiewmps) D) Gpumerid
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38.

39.

40.

41.

42.

43.

44.

45.

46.

47.

48.

49.

50.

First Women Boxing Referee in India
A) Rasiya Shabnam B) Mary Kom C) Nora Jones D) Seema Antle

The Afro-Asian Games held in India in 2003
A) Kolkata B) Chennai C) Delhi D) Hyderabad

What is the official song of ICC Women’s World Cup 2022 called ?
A) Raise Me Up B) Girl Gang C) New Rush D) Squad Goals

A special temporary high speed storage area within the CPU of the computer is
A) RAM B) Register C) Hard disk D) ROM

Which of the following is an input device ?
A) OMR B) Plotter C) Printer D) Speaker

The hardware component in the computer on a network which controls the flow of
data regardless of wireless and topology used is
A) Modem B) Router C) NIC D) Bridge

The elapsed time between the time of a program is submitted and time when it is
completed by the CPU is

A) Waiting time B) Seek time

C) Latency time D) Turn around time

Which of the following HTML tags is used to create a drop down list ?

A) <INPUT> tag B) <SELECT> tag

C) <LI>tag D) <DL> tag

The Headquarters of International Union for Conversation of Nature (IUCN) is at
A) New York B) Switzerland

C) Nairobi D) Paris

specifies a framework of control of Environmental Management System.
A) 1SO 14001 B) 1SO 14011 C) 1SO 14021 D) 1SO 14061

Which is the first rocket that run on bio fuel ?
A) CMS-01 B) STARDUST 1.0 C) EOS-01 D) Carosat-3

is a multiple rocket launcher produced in India and developed by
the DRDO for the Indian Army.

A) Trishul B) Cobra C) Arjun D) Pinaka
Which of the following is a renewable source of energy ?
A) Natural gas B) Fossil fuels
C) Nuclear energy D) Solar energy
-12-
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@ BHwrallerT (LpFev O)LIGHTHET &GS FFeTen L (BT

A) gr@wmsled B) G Gasmib C) GCwmom Gaymerav D) Fom 2yeirLg ov
2003 @b QB wmallev L1 Mds 9 Fw aflenenum (Hss6T BeoL_OLpHD ()L _Lb
A) Gsrevss5T B) Gleerenesr C) Qe D) ewamsamriing
ICC wsafli 2 ews CarLienis 2022 ()6 9B FTILILLTCU LITL_ GO 6TGTGT 9

A) Gguen O gL B) Gser Hluimmi

C) mluy may D) avGsr( Gsmevenv

sewtlasfluflest CPU & @ et @) (56 @Ld smo1edls F Caus CFLALIL) LIGF)

A) RAM B) Register C) Hard disk D) ROM

LesTeumalaTalnmled 2 aTefl (B FISGTILD 615 ?
A) OMR B) Plotter C) Printer D) Speaker

QB Cleuris&ev o 6rar %euwt 6ol uler euet6lLm@palle, auwibleev LopmiLb
QL aflwed YRueaiPpeps CluTBL LBSSTOD STalleT QL L eangd HL(hLI
IOEETRIET

A) Guomi_tb B) epoim C) NIC D) Mg

@b Bloew FissLiul 1L CpusHm @b a1 CPU 9y Blenmey OlFuiwlim’
Crus@m@Lb @)oo uiled %10b5 Grpiib

A) Geuudi 19m eL_b B) &% ewi_1bD

C) Qa6 _e1® e _Lb D) ©r_ar 2, Corest(h) eoL_Lb

6165 HTML @ 0156lamev, S1pCamermiid LiL” 19 wenev 2 (heumdh G n ?

A) <INPUT> tag B) <SELECT>tag C) <LI> tag D) <DL> tag
Qupens LT ETLLSSTeT Fieu CsF etmwsF e (IUCN)gemeven 0w %Lb

A) Blyuwimis B) #ail siewnpa C) ewpGomid D) wmrfen
FDDIFFHLPeL GLocVTessTEn LD 96w oL 1L 6T SLHILILITL (B SL_L_e®LoL

®Ld GO RE DS
A) ISO 14001 B) 1SO 14011 C) 1SO 14021 D) ISO 14061

2 w9 e LTpafled @QuiBI@GLd (LpSed TTS6HL 615 2
A) CMS-01 B) STARDUST 1.0 C) EOS-01 D) Carosat-3

erarLg) Q)& wralleo DRDO @S w @)rmesyieus P mnsns

SWIMSSLILL 1 L6 g1&01$L Hear Finhgl ClFOGLD 616, %6 G5

A) silayde B) Gasmiigm C) 9yie9er D) Newrngsm
LiesteupeuasTaupmled LHL1L05ES55%5 DD 615 ?

A) Qumpens erfleumuy B) yensLigar erflQLimpeirseir
C) <aws55) D) @&fw 559
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51.

52.

53.

54.

55.

56.

57.

58.

59.

Product of three numbers is 100. Sum of these numbers has its last digit 3. Then
the second largest number among these three is
A) 2 B) 4 C) 10 D) 20

Raju bought a cycle and sold it after a year for 20% less price than its purchase
price. If he had sold it for a price less by 10% of the purchase price, he would have
gained Rs. 100 more than what he got now. Which of the following could be the
purchasing price ?

A) Rs. 1,000 B) Rs. 1,200 C) Rs. 1,500 D) Rs. 2,000
On arranging 1/3, 5/7, 2/9, 9/14, 7/12 in the increasing order, we get

A) 2/9,1/3,7/12,9/14, 5/7 B) 2/9, 1/3, 7/12, 5/7, 9/14

C) 1/3,9/14,5/7, 2/9, 7/12 D) 2/9,7/112,1/3, 9/14, 5/7

In a ward, 25% of the population are affected by COVID-19. Of these, 100 are
male, 10 transgender and other female. If the ward consists of 300 female and they
constitute 50% of the total population, then how many female are affected ?

A) 30 B) 35 C) 40 D) 45

An amount deposited for 2 years at simple interest rate 10.5% will yield same interest
in 2 years if deposited for compound interest for 2 years (compounded annually) if
the rate of compound interest is

A) 9.75% B) 10% C) 10.25% D) 10.5%

Average of four 3-digit numbers were calculated to be 335. Later, it was found that
one number had 8 at its second place and another number had 8 at its last place
both of which were wrongly read to be 3 instead. If this mistake is corrected, what
is the correct average of these four numbers ?

A) 340.55 B) 348.75 C) 350.5 D) 355.75

To completely tile a floor of area 220 ft2, tiles of size (in ft) 2 x 2 and 4 x 2 are available.
Price of these tiles are Rs. 50 and Rs. 80 respectively per piece. The minimum cost
of tiling the floor would be

A) Rs. 2,150 B) Rs. 2,210 C) Rs. 2,230 D) Rs. 2,240

Raju will complete a job in 20 days whereas Rani will do it in 15 days. Sahil can
finish it in 12 days. If they jointly work for 2 days and after that Raju alone carries
on with that work, how many days more will be required for Raju to complete it ?
A) 8 B) 10 C) 12 D) 14

A and B start a business with investments in the ratio 5 : 10. C joined the firm later
and invested Rs. 20,000 and at the same time A and B invested Rs. 2,000 each so
that the investments of A, B, C became in the ratio 10 : 15 : 25. How much A had
invested initially ?

A) Rs. 4,000 B) Rs. 5,000 C) Rs. 5,500 D) Rs. 6,000
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eLp a1 e1esstg e CFihg 100 2 Fm ). Q)b o‘rmasmﬂma%ml_@g,@g,ﬂma;tﬁ?w FOL_G)
3 QdssMSBS OlE T 6TaTS. (3)bS @,pm‘/_&@v @Jmm_/mug/ Qifw eT6wT
A) 2 B) 4 D) 20

I1207® (15 LOFGUGHTLY GO QUTBIS) 6( W@Lg,@m@u L& 2S5 Cl&TeTLHS
aflevevenw aflL 20% & peuer @5766)61)55@ allppmi. Glsmerpge afleauie 10%
GODUTET QIS eUT DD mﬁ@ggn@) <ot QUIGLITG FlevL_S5m5
@il e 100/- B FL0MSE FLOLITHSSH(BLILITI. 2YBS UGHILY W 6ThS Q66 @, LB
G m L 9

A) em. 1,000 B) em. 1,200 C) em. 1,500 D) em. 2,000
amieumenguilev 1/3, 5/7,2/9, 9114, 7/12 o0& GHLdCLITG, BLOS &S FlewL_LILIG).
A) 2/9,1/3,7/12,9/14, 5/7 B) 2/9,1/3,7/12, 5/7, 9/14

C) 1/3,9/14, 5/7, 2/9, 7/12 D) 2/9,7/12,1/3, 9/14, 5/7

R g6, 25%s56r COVID -19 9y6d LTGSsLILL B aTare, @)aui%alle

100 U%mszm%m 10 @@5/5_16‘5)5;&5@1 wm@m i Quessraar. aumitgev 300 6)Liessss 6T
@gg,fmv 2 6UTE6T OILD 1SS Lo&S6T OlgTen S ulleb 50% 5 @) (5HST6V, 6155 66T
LIGSTSGT LITHGHLILIL (D GTGTTTEGT 9

A) 30 B) 35 C) 40 D) 45

@ GOILEC L uesmigensg 10.5% eraflw eul’ 19 alFSSHD 2 6UHLBISEHS S
%l_un@l_@gwg,ﬂc;v FlenL_SGLD UL LY IS, CS LIGHISS2 G (BL_BIHE@GS ST L (B)
QUL 19 5 (c%«;m@@g,n@/w FL®) O L@ @&u_lg/TGvZ < enT(hFameL G auL’ 1g

L_GGLD. LIy Olwesfled, Fnl’ (B el LY 6T6UGIGTEUTS () (HHGLD.

A) 9.75% B) 10% C) 10.25% D) 10.5%

BIcTSH 3 Qevss erewisafler FyrFm 335 e1a SeTdHGL_LILIL L &I, 4PV, @(H
GTGUSTGR 13T (9) TaWTL_Teug) @)L $G)60 8 aL_wLb, LoP D T(H eTavsTewtlcy e L&) @)L g
60 8 e L_ujLb O TENTLY (5HSS]. GTTEV, (F)6M6u JeRT(BILD, 3 6TGW DT 6T
a;asuul_@ STHEH LI L&, @Q)bF Sauml Fifl ClFnwuliul’ L mev, Q)55 BI6TS,
GTGUTS T GBT FIf Wi TGWT FTTFIT GTGT G ?

A) 340.55 B) 348.75 C) 350.5 D) 355.75

220 9yug ft? upliuerene LppeudIoTs e _cv OFUIw, @BFET2 X 2 LOHMILD
4 x 2 yyarasailes Gl sRATDT. Qbs @B Fale allaw @ T (%G
@@)/_1)(311_1 e. 50 wmgyw e 80 9y,@GLD. ST W L6V OIFUIISDSHTT &M S
UL F QlFevay 6TGTGT6 TS () (H @ LD

A) er. 2,150 B) ep.2,210 C) ep. 2,230 D) em. 2,240

71209 g Ceauemevenw 20 prlsaflev (wprgLivimi, G%5 Caremeven i U/TGb’O’ﬂ 15
15/T1_<956ﬁ76v QFdiaumr. J/TG)__J@GU g 12 15/Tl_<5561ﬂ6v (P& (LPLYUJLD. SGUTSHET
eLP&U(HLD @)W bGI 2 BML-S@HLD, AHSD &L LD 7120 oL” B 3% Garemev
e wd CFUIS T, BS Couemovems (LpL) S TTE0 D65 6TS G HITL_H6IT fGLD ?
A) 8 B) 10 C) 12 D) 14

A opmtbB 5 : 10 a6t allE55H60 (LpFeOBHEHE@BHL_6T 6(h OB MPlenevd ClFm_miGe.
C Yereri o555 Blmieuasis@ev Gaipa 20,000Lps6e0® GlFdismi, 9Cs @ggg@w A
opmitb B gevr 2,000 (Lpaed® Olsuigesti. LiGLmgy A, B, C Q)eurisepssres (Lpsed(®
10:15: 25 g HalB)Lb. L1 Qwienmed, (LpFedled A eTeeuana) (LoFeO®H O\FISHL
LI 9

A) e. 4,000 B) en. 5,000 C) em. 5,500 D) em. 6,000
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64.

65.

66.

67.

68.

69.

70.

A train of length 100 m crosses a bridge in 20 seconds. If its speed is increased by
10 m/s, the train will cross the bridge in 10 seconds. What is the length of the bridge ?
A) 70 B) 80 C) 90 D) 100

A train runs on every Thursday and Saturday. If 15t January 2020 is a Wednesday,
then in 2020, for how many days the train would have run ?
A) 102 B) 103 C) 104 D) 105

After 5 o’clock, after how many minutes, the minute hand would have crossed the
hour hand for the first time ?
A) 5:26 B) 5:27 C) 5:28 D) 5:29

A walks 40 m from his office in the North direction. Then he turns right and walks 8 m.
Again he turns right and walks 34 m. How far he is from his office ?
A) 8 B) 10 C) 12 D) 14

In a security system, the number 3 is replaced with 7, 4 with 14 and 5 with 24. What
would be the replacements for 6 and 7 respectively ?
A) 34, 47 B) 34, 37 C) 31, 41 D) 36, 50

A has more marks than B, B has less marks than D, but more marks than E. C has
more marks than D. Then which of the following is possible ?

A) D can be the least B) B can be the highest

C) A can be the highest D) E can be 2™ |east

If + means x, —means + and 5 + 3 — 8 x 2 = 19 (with no more replacements), then
X means

A) = B) +

C) - D) Cannot be determined from this data
Pick out the odd one.

A) Radio : Speaker B) Phone : SIM Card

C) CPU : Processor D) Plant: Pot

If COW is ERAD, RAT is TXXS, HEN is JHRI, then FOX is
A) HSBF B) HRBG C) GTCD D) GPZA

C is the sister of P, Q and R. Father of Q is D. P is the son of Y. Then which of the
following is true ?
A) R is the daughter of D B) Qs the sister of C

C) Qs the daughter of Y and sister of P D) C has mother Y

A clock gains 1 minute every hour. The clock is corrected at 1 o’clock. If the mirror
image of clock shows 4 : 33, what will be the time approximately ?
A) 4:29 B) 7:15 C) 7:20 D) 8:17
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100 L5 L_ri pemLpeirar e guflev 20 allesmig Fafled @k LITVSNSGS SL_SHDE]. 2H 65T
Goussms10 15/69 FsMgsrev, muiev Limwsens 10 allarmysaiey sL_EgialbLb
LITVSS)GT [EOTLD GTGITGIT ?

A) 70 B) 80 C) 90 D) 100
(1 Tudlev QeGleu(p @ilwmpait LoppiLD FasllsGlpanLogalled @(GIDg). ggawmauril 1, 2020
R LISTHILpen LD 6TeTmTev, 2020 )6V, 6T5SENHT BTL_F6T Tuiley gpupuﬁ?@&@w %

A) 102 B) 103 C) 104 D) 105

&R(h a;uw;rrg;;s@@) 5 Loewtls@L Lﬂg)@, 1SS BILOIL_BIS@hEHGLI LID@ BILOIL_(LpeT
(LPSGV (LPGODUITS LOGSTISIBIT (LPGTEH T &TGRT(HILD ?
A) 5:26 B) 5:27 C) 5:28 D) 5:29
A euig 9IavESFS BB UL %@ FevFullev 40L5 BL_BST. LIGSTTT 96uit
Qg LpLb HHLbLe) 8 15 LBewst(HLD B . LesTesti Qe eauevgl LipLd FHLbLy
34 1B BL_BSTIT. 9o 6% 2N VES B 6O (BBESH $DCLITS 6T61I6Te FTTS S 6V
BIDEpi 9
A) 8 B) 10 C) 12 D) 14
@15 LITHIHTLIL| e»LoLILN6D, 6TewT3 g? 4 & 14 LD'[DIVTULD S 24 95 LDIT‘[D'/_Tf) 9GOLDT
SUILIGBDGI. 9Ly QWGSTD 6D, 6 LoPMILD 7 & @ LOTDMD TS GTGITET 6T68T (Q)(HdHGHLD ?
A) 34,47 B) 34, 37 C) 31, 41 D) 36, 50

A & Bgg allL_ 955 w@u@um&sm 2 areneyr. Bs@ Dgg afl_ gewpainer L
LIGSSTSGIT 2_6iTarTast, paurmed Ego @l G siomer LoB) L16)Liewt 2 ereres. C &@ D
& il 5% w@u@um&;m 2_GiTanesT. L6516 (e TP DGV 618 FITgFIWiLD 9
A) D go@pps w@u@um&mm O s TesT(H) Q)(HdS (LpLg LD
B) B ufs .‘-’)_(LllTﬁgngéB @) (hsSFHeTLD
C) A D& .‘-’)_(LllTﬁgngéB @) (555 (LpLg uLD
D) E 2 eusns Gonis & L16)Lcwisemar Glsment(h) @) (Bss (LpLg- LD

‘+ et TeL ‘X', ‘—ereimaey ‘+ wmpmitd 5+ 3-8x%x2=19 (s waipPBFer
@)evevrLoey ) @761;1/_1)/76{) ‘X’ GTGTGTaU TS () (h & LD

A) + B) +

C) - D) erevrasiOleuasiny @) Bedlpng G)FTevev (LpLguing
g Fwnsionarens 0%ME0)sH.

A) aurGlermaed) : 6ad6)LIhs S B) QsreoewCGud : SIM smi®
C) CPU :Qswal D) Q&g : Qg 19

COW e‘rm‘m/mv ERAD, RAT ereormmev TXXS, HEN ereorig JHRI eresrmmev , FOX
GTGITLIG| GTGOTGHT (LD

A) HSBF B) HRBG C) GTCD D) GPZA
C erarieui P, Q . R & CGwmiileir #Gangiil. Q ailer 9yiuim D. Perasieui Y ulles
LD GO Lﬂmm@mmmmgﬂw 6T&| 2_GESTGOLD 9

A) R er@riaur Dulesr togaer

B) Q ererieui Cullest FGa g

C) Q erareurY @)er et opmitd P@)er #FGx g

D) Culer @ybiomY

Q@b HL9HTILD eeuGleun Loesst! CHrsEmH @ LD 1 BlLOIL_LD COUDIPDSI. FHL9HTILD
1 wewlls @ Fi @Ju_uuuul_l_gu FL) FTTS B T SessTenrTLy Ll SFev 4 : 33 L5
Fwgi, CargmuLomet GBILD 6T6TeToU TS () (hbEGHLD ?

A) 4:29 B) 7:15 C) 7:20 D) 8:17
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71. Add a question tag : “I told you, ?”
A) Did | B) Didnt |
C) Have | D) Haven't |

72. Without supervision, children might eat unhealthy food or lead a sedentary lifestyle.
Identify the meaning of the underlined word.
A) Inactive B) Energetic
C) Stationery D) Mobile

73. ldentify the correct spelling out of the following.
A) Oppurtunity, previlege B) Oportunity, priviledge
C) Opportunity, privilege D) Opurtunity, priviledge

74. He said his job is to attend to the diseases of the eye. Give a one-word substitute

to the underlined words.
A) Ophthalmologist B) Optician
C) Occultist D) Obstetrician

75. What is the meaning of the idiomatic expression in the following sentence ?
Our entire class is quaking in its boots.

A) To shiver in the legs

B) To make squeaking sounds

C) To tremble with fear or nervousness
D) To laugh out aloud

76. Fill in the blank with the appropriate word.

The manager (to) a pay hike next month.
A) Elude B) lllusion
C) Collude D) Allude

77. Choose the word nearly opposite in meaning to the word fact.
A) lie B) fiction
C) imagination D) reality
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Fie on him who professes friendship but lacks the sincerity of a friend !
Change the above sentence into assertive.

A) Alas! Shame on him who professes to be a great friend but lacks the

sincerity of a friend.
B) Itis a pity that he professes to be a great friend but lacks the sincerity of one.
C) I cry shame on him who professes friendship but lacks the sincerity of a friend.
D) None of the above

Fill in the blank with the appropriate word.

The brothers together with their sister here.
A) are B) is

C) am D) was

Fill in the blank.

My mother helped me my homework.

A) todo B) doing

C) did D) do

Pick the option that turns the sentence passive.

Something happened or they would be here by now.
A) must be B) must have
C) must D) must have been

Fill in the blanks with articles.

Mr. Bajaj was very fastidious person who lived in small
house with beautiful garden.

A) the, a, a B) a, the, the

C) a,a,a D) no article, a, the

Choose appropriate modals from the options below.

Kamala took a long flight from Tanzania. She be exhausted after that.
| told her, “you rest, dear.”

A) could, might B) should, must

C) can, should D) must, should
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84. Correct the sentence if there is an error.

You can pass the examination if you answer the questions with precision, accurately
and quickly.

A) Precisely, accurately and quickly

B) With precision, with accuracy and with quick

C) With precisely, accurately and quickly

D) No error

85. Complete the sentence :
If Suhra lent us her car, we

A) might have gone to Aluva B) could have gone to Aluva
C) could go to Aluva D) none of these

86. Pick a preposition :

| am accustomed hard work.
A) with B) about
C) to D) at

87. Single the odd one out.

A) shipwreck B) plane wreck
C) car wreck D) train wreck
88. Midhun has a of doctors. Select the correct form of trust.
A) distrust B) mistrust
C) trustworthy D) mistrustful

89. Use a phrasal verb.

He does not any misbehaviour in his class.
A) get through B) put up with
C) get along with D) put down with

90. What is the meaning of prima facie ?
A) the most important B) that which comes first
C) the face that is young D) at first view
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91. gfwmer @gm_mg m@g’@g@gy&
A) Uay@%vau_o ClFestmy O"){@&'@)l_@‘)l_ QUITEIS T
B) <i@cpFevsid ClFarmy F19FLD QUTEIG) QT
C) 9GhFVHLD ClFGTI SLITGY GUTEIF) LT
D) ©9@hFvsLD OlFGTm FLIMGY SMTT{H) 6uTBIS 6T

92. Qgmnseer @Q_pnﬂ@u@g@ QUTSFWILDTS LOTH M.

A) QUATLOTST QUTLPSENFH S %g)/ml_orr@w BlovssLq ﬁrr
B) gﬁw,@sgjq £/T QUGTLD TGS U TLD S W H () %gngwﬂ@w
C) mn(t./oasmasa;@ ﬁ@g@u ﬁrr QUGTLD TGS B, TITLD TG LD
D)

LS TILDTGLD QU TLPS DSBS G QUGTLOTET BlevdFLq. [biT

93. Dubbing-ereiTn 24 mIHVF ClFTWeVIS G (@)em e et CIFTHHem o
FGTL_DS.

A) @alsGaisens  B) @afl alleovsed C) @edldGaisdens D) @edlwrmmid

94. euge-61arn CFTWID G 61H)TF O)FTE eV H6TLDYs.

A) all@pLbLsev B) eur(®sev C) @&LpsHev D) L&Lpsev
95. You mustwalk before you run- 61631 L1Lp Q) Lomifld @ Q)emewtismest HLOLpd O\HTL_ew T
FGTL_ B,

A) empuilev %L(]_(LIG:)@)GG)JIT 2 LbLIVSF v 9 Gauewnt(hLd
B) 2/ GV asl_g,ya;@ ccysmmr(é’um_ wpLguyLom 9
C) Yeved G HTevLD O)FeVRULD G(Ih HTGLD
D) e 9 @hFadls @ hevevmi 2 g GLomed

96. paer Limestl-erern GlFTIM G OlLITIhSSLOMeT CFTWE 6V &6uTL_1))%.
A) Lgia Lo B) gD C) yBwer D) yHwaa

97. Spsaneiib OFTL_iHefed S5t UGS WSS HewTL_Pls%.
A) L o esrL9S S mest
) ) Gum’ g ufev LmIGEPmrest. Qeumm) GLmmmest LM% LD TesT
C) umifl aupbgmest
) L) o_GSTL_TesT
98. &SLpHTamyILd ClFTMHS @ 6T WIS 6TedTerILd OlLITIH6T &Ml%s 15 ClFTeD
A) s B) safmy C) Geurptd D) Garpev

99. Sunflower blossoms towards sun- ererp ,mF e 0GTL (5&5@ 6lLIMT(HS S DTes
OsTL_eoT HT68sTS.
A) &M sTH% &MNueet Crrss TS ns
B) @M &1b%) Loewi&Hmgy)
C) &Mlwueet CprE&) & MusTHES) LewTH DI
D) @Mwenid & Mw MBS uyLb LOVTF D

100. eTevoTemtS e % U 6O G5 LD TGS LD TERTCUGH G Y60 LpS LD ©O)FT6D
A) LDTGETE GOT B) wresweuiser C) omewral) D) LomesTallser
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